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Answer all the questions.

I. (a)  Round off 109.9552 to 3 significant figures.
(b)  Calculate 0.8% of $95, leaving your answer in cents.

(¢)  Evaluate the reciprocal of é+l .

15

Answer: (a) (1]
(®) ¢[1]
(© [1]

2. (a)  There were 365 days in the year 1993. The first day of the year was a Friday.
On what day of the week did 1994 begin?

(b)  Whenitis 07 00 in New York, the time in London is 12 00. A flight from New York
departs at 5.25 pm. The flying time is 6 hours and 25 minutes.

What time does the airplane arrive in London?

Answer: (a) [1]

(®) (2]
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(a) The lowest common multiple of 6, 15 and x is 90. Given that x is an odd number, find
the two possible values of x.
(b)  Three bus services 4, B and C operate from the same depot.
Bus service A leaves at 8 minute intervals, service B at 12 minute intervals and
service C at 18 minute intervals.
All three services leave the depot together at 09 00. Find the time when the three
services next leave the depot together.
Answer: (a) x= or 2]
(b) (2]
(a)  Express 265 square centimetres in square metres.
(b)  Every 1500 milligrams of a certain cereal contains 3.2 micrograms of Folic Acid.

What percentage of the cereal contains Folic Acid? Leave your answer in 3
significant figures.

Answer: (a) m? [1]

(b) % [2]
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(a) (i)  Make x the subject of the formula y =

- ;
2x° —w

(i1)  Find the value(s) of x when y=3 and w = 17, leaving your answer(s) in 3
significant figures where necessary.

23
nm
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(b)  Simplify monm

(mn)* —m’® .

Answer: (a) (1) x =

(i) x=

(b)

Bl
(2]

(3]
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Solve the simultaneous equations.

1
—yv+2x=36
2)’

2x—y+12=0

Answer: x = , V= [3]

A 1s directly proportional to the cube root of B. It is given that 4 = 54 for a certain
value of B. Find the value of 4 when this value of B decreased by 87.5%.

(b) 12 girl scouts can build 3 tree houses in 48 days.

How long would it take 8 girl scouts to build 1 tree house?

Answer: (a) 3]

(b)___ days[2]
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(@)  Solve the inequality ~8 < 2x+3 < |1 and represent the solution on a number line.

(b) Suppose thatx and y are integers such that —5<x <3 and 2 < y <7.Find
() the smallest possible value of x* + 32,

-y
Y

(i1) the greatest possible value of

a

Answer: (a) 1]
K
O __ (1]

ay_ 1]
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9. (a) Express the function y = —x’ +4x +10 in the form y = —(x— h)2 +k, where h and k

are constants.

Answer: (a) y = [2]

(b)  Sketch the graph y = —x* +4x +10 in the given axes below. State the line of
symmetry, turning point(s) and y - intercept(s) clearly.

(3]
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10. The diagram shows a sketch of the graph of y = mn™, where m and » are constants. The

graph passes through the points (2, 2) and (4, 8).

<
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(a) Find the values of m and n.

(b)  Find the y — intercept of the graph.

=

Answer: (a)y m =

®







